TECHNOLOGY GLOBAL

All Shipped Dates Entered Date between 08/01/07 and 08/31/07

	Shipments	Weight	Average Shipment Weight	Amount Billed	Amount Adjusted	Amount Paid	Average Shipment Cost	Pieces	Cost Per Pieces
A Duie Pyle Inc	1	29,017.00	29,017.00	\$669.90	\$0.00	\$669.90	\$669.90	504	\$1.33
Abf Freight System Inc	1	6,150.00	6,150.00	\$2,128.00	\$2,128.00	\$0.00	\$0.00	4	\$0.00
American Trans Freight Inc	2	2.00	1.00	\$152.10	\$0.00	\$152.10	\$76.05	2	\$76.05
Angelo Interlogistics	8	278,972.00	34,871.50	\$760.93	\$235.93	\$525.00	\$65.63	214	\$2.45
Averitt Express Inc.	3	7,655.00	2,551.67	\$276.93	\$176.26	\$100.67	\$33.56	181	\$0.56
Bax Global	19	119,888.00	6,309.89	\$379,862.57	\$195,302.00	\$184,560.57	\$9,713.71	294	\$627.76
Baxter Harriss	2	1,962,682.00	981,341.00	\$9,615.76	\$4,807.88	\$4,807.88	\$2,403.94	19,226	\$0.25
Bdp International	9	22,710.00	2,523.33	\$13,306.07	\$2,047.04	\$11,259.03	\$1,251.00	19	\$592.58
Bdp Transport Llc	4	80,834.00	20,208.50	\$10,132.70	\$0.00	\$10,132.70	\$2,533.18	2,185	\$4.64
Big G Express	2	78,948.00	39,474.00	\$2,209.68	\$1,130.88	\$1,078.80	\$539.40	160	\$6.74
Bnsf Railway Company	2	322,700.00	161,350.00	\$4,386.78	\$4,386.78	\$0.00	\$0.00	2	\$0.00
Bulk Connection Inc	1	41,440.00	41,440.00	\$4,415.70	\$4,415.70	\$0.00	\$0.00	1	\$0.00
Bulkhaul Usa	46	1,003,336.00	21,811.65	\$114,314.50	\$15,100.00	\$99,214.50	\$2,156.84	49	\$2,024.79
Cal Ark International	3	124,000.00	41,333.33	\$9,318.90	\$6,219.58	\$3,099.32	\$1,033.11	43	\$72.08
Carpenter Liquid Transporter	1	46,400.00	46,400.00	\$80.00	\$80.00	\$0.00	\$0.00	1	\$0.00
Carry Transit	6	393,198.00	65,533.00	\$9,496.23	\$6,143.60	\$3,352.63	\$558.77	6	\$558.77
Celadon Trucking Service	4	125,675.00	31,418.75	\$10,457.60	\$7,939.52	\$2,518.08	\$629.52	251	\$10.03
Centre Shipping International	1	6,700.00	6,700.00	\$4,935.00	\$0.00	\$4,935.00	\$4,935.00	30	\$164.50
Ch Robinson	45	1,367,673.00	30,392.73	\$64,997.64	\$3,120.99	\$61,876.65	\$1,375.04	38,265	\$1.62
Cn	18	2,196,509.00	122,028.28	\$49,074.17	\$49,074.17	\$0.00	\$0.00	18	\$0.00
Coble Enterprises, Inc.	6	98,403.00	16,400.50	\$2,004.10	\$1,099.68	\$904.42	\$150.74	186	\$4.86
Commercial Cartage	1	7,020.00	7,020.00	\$123.00	\$123.00	\$0.00	\$0.00	13	\$0.00
Con-way Transportation Service	1	1.00	1.00	\$40.00	\$40.00	\$0.00	\$0.00	5	\$0.00
Cornhusker Motor Lines	3	111,837.00	37,279.00	\$2,322.28	\$908.56	\$1,413.72	\$471.24	11,444	\$0.12
Csav Agency North America	2	24,822.00	12,411.00	\$3,500.00	\$0.00	\$3,500.00	\$1,750.00	273	\$12.82
Csx Transportation	22	3,232,147.00	146,915.77	\$70,204.00	\$70,204.00	\$0.00	\$0.00	22	\$0.00

F016 Page 1 of 6

TECHNOLOGY GLOBAL

All Shipped Dates Entered Date between 08/01/07 and 08/31/07

	Shipments	Weight	Average Shipment Weight	Amount Billed	Amount Adjusted	Amount Paid	Average Shipment Cost	Pieces	Cost Per Pieces
Dana Transport, Inc.	13	2,093,833.00	161,064.08	\$7,025.50	\$141.00	\$6,884.50	\$529.58	52	\$132.39
Decker Transport Co. Inc.	1	13,413.00	13,413.00	\$2,514.72	\$2,514.72	\$0.00	\$0.00	65	\$0.00
Dhl Airways Inc.	37	1,724.00	46.59	\$11,960.42	\$2,181.92	\$9,778.50	\$264.28	128	\$76.39
Dhl Express Netherlands	10	106.00	10.60	\$869.43	\$805.72	\$63.71	\$6.37	10	\$6.37
Dhl Global Forwarding	10	452.00	45.20	\$2,156.11	\$708.03	\$1,448.08	\$144.81	16	\$90.51
Direct Container Line	24	32,460.00	1,352.50	\$16,752.84	\$661.02	\$16,091.82	\$670.49	973	\$16.54
Dodson Transport	1	30,320.00	30,320.00	\$1,281.00	\$0.00	\$1,281.00	\$1,281.00	1	\$1,281.00
Dupre Transport Llc	4	135,978.00	33,994.50	\$4,333.41	\$3,203.97	\$1,129.44	\$282.36	100	\$11.29
Eagle Global Logistics	24	10,028.00	417.83	\$4,775.35	\$679.86	\$4,095.49	\$170.65	166	\$24.67
Eagle International	29	8,320.00	286.90	\$7,972.81	\$2,315.90	\$5,656.91	\$195.07	492	\$11.50
Elite International Transportation	158	2,221,260.00	14,058.61	\$19,836.00	\$3,429.00	\$16,407.00	\$103.84	32,445	\$0.51
Empire Express Inc	16	472,995.00	29,562.19	\$23,365.62	\$22,419.79	\$945.83	\$59.11	5,781	\$0.16
Enterprise Transportation Co.	4	227,439.00	56,859.75	\$2,913.00	\$0.00	\$2,913.00	\$728.25	4	\$728.25
Estes Express Lines	18	41,639.00	2,313.28	\$14,859.68	\$7,274.11	\$7,585.57	\$421.42	166	\$45.70
Ets Express	3	3.00	1.00	\$5,123.86	\$0.00	\$5,123.86	\$1,707.95	3	\$1,707.95
Evergreen America Corporation	69	1,288,199.00	18,669.55	\$98,941.90	\$4,240.00	\$94,701.90	\$1,372.49	13,506	\$7.01
Exel Transportation Services	2	124,820.00	62,410.00	\$3,948.17	\$1,948.50	\$1,999.67	\$999.84	3	\$666.56
Exxact Express	1	8,140.00	8,140.00	\$812.52	\$0.00	\$812.52	\$812.52	6	\$135.42
Fedex	161	15,400.00	95.65	\$36,050.28	\$32,015.16	\$4,035.12	\$25.06	1,163	\$3.47
Fedex Custom Critical	2	14,632.00	7,316.00	\$2,485.72	\$0.00	\$2,485.72	\$1,242.86	244	\$10.19
Fedex Freight East	23	45,020.00	1,957.39	\$5,683.55	\$2,930.02	\$2,753.53	\$119.72	25,534	\$0.11
Fedex Freight West	8	7,877.00	984.63	\$1,177.82	\$373.01	\$804.81	\$100.60	237	\$3.40
First Truck Choice	1	39,683.00	39,683.00	\$2,875.27	\$0.00	\$2,875.27	\$2,875.27	36	\$79.87
Fort Transfer Company	16	545,534.00	34,095.88	\$33,322.03	\$0.00	\$33,322.03	\$2,082.63	29,221	\$1.14
Freehold Cartage Inc	2	76,820.00	38,410.00	\$1,956.50	\$1,027.00	\$929.50	\$464.75	2	\$464.75
Global Express Logistics	1	23,457.00	23,457.00	\$295.00	\$0.00	\$295.00	\$295.00	48	\$6.15

F016 Page 2 of 6

TECHNOLOGY GLOBAL

All Shipped Dates Entered Date between 08/01/07 and 08/31/07

	Shipments	Weight	Average Shipment Weight	Amount Billed	Amount Adjusted	Amount Paid	Average Shipment Cost	Pieces	Cost Per Pieces
Gulf Coast Logistics	6	200,765.00	33,460.83	\$8,436.08	\$0.00	\$8,436.08	\$1,406.01	225	\$37.49
Hamburg Sud, North America	4	63,748.00	15,937.00	\$8,536.00	\$3,407.00	\$5,129.00	\$1,282.25	1,529	\$3.35
Hapag-lloyd Inc	19	779,983.00	41,051.74	\$55,505.09	\$16,029.66	\$39,475.43	\$2,077.65	2,237	\$17.65
Hyundai Merchant Marine Co	24	411,124.00	17,130.17	\$38,625.00	\$4,789.00	\$33,836.00	\$1,409.83	7,440	\$4.55
Interflow Usa Inc	1	1.00	1.00	\$187.50	\$0.00	\$187.50	\$187.50	1	\$187.50
J B Hunt Transport Inc	4	122,672.00	30,668.00	\$4,902.04	\$4,902.04	\$0.00	\$0.00	76	\$0.00
Jack B Kelley Inc	2	76,965.00	38,482.50	\$7,763.72	\$0.00	\$7,763.72	\$3,881.86	2	\$3,881.86
Jevic Transportation Inc	8	7,648.00	956.00	\$985.11	\$737.83	\$247.28	\$30.91	11	\$22.48
Kansas City Southern Railway	18	2,627,720.00	145,984.44	\$39,329.95	\$30,554.14	\$8,775.81	\$487.55	18	\$487.55
Kllm Dry Division	3	91,682.00	30,560.67	\$4,341.76	\$4,341.76	\$0.00	\$0.00	959	\$0.00
Kllm Inc.	3	79,032.00	26,344.00	\$4,481.65	\$2,546.09	\$1,935.56	\$645.19	1,067	\$1.81
Knight Transportation	15	455,099.00	30,339.93	\$15,789.89	\$7,215.16	\$8,574.73	\$571.65	1,965	\$4.36
Kuehne And Nagel International Usa	25	39,167.00	1,566.68	\$92,593.40	\$5,366.73	\$87,226.67	\$3,489.07	142	\$614.27
Landstar Inway	4	70,307.00	17,576.75	\$3,529.83	\$3,529.83	\$0.00	\$0.00	4,974	\$0.00
Landstar Ranger Inc	13	453,480.00	34,883.08	\$21,866.73	\$12,472.86	\$9,393.87	\$722.61	4,024	\$2.33
Le Saint	1	38,131.00	38,131.00	\$919.10	\$919.10	\$0.00	\$0.00	80	\$0.00
Lesaint Logistics Llc	3	103,009.00	34,336.33	\$2,187.22	\$1,342.22	\$845.00	\$281.67	197	\$4.29
Leschaco Inc	3	56,352.00	18,784.00	\$7,085.39	\$4,223.39	\$2,862.00	\$954.00	4	\$715.50
Linden Bulk Transportation	8	287,648.00	35,956.00	\$8,080.43	\$4,278.70	\$3,801.73	\$475.22	8	\$475.22
Liquid Transport Corp	4	221,016.00	55,254.00	\$4,178.64	\$647.12	\$3,531.52	\$882.88	6	\$588.59
Livingston International Inc	4	4.00	1.00	\$2,914.50	\$710.50	\$2,204.00	\$551.00	4	\$551.00
M G Maher & Company	184	4,359,733.00	23,694.20	\$199,385.68	\$16,685.88	\$182,699.80	\$992.93	20,622	\$8.86
Marten Transport Services, Ltd	7	175,487.00	25,069.57	\$10,402.26	\$1,611.49	\$8,790.77	\$1,255.82	984	\$8.93
Martin Transport Ltd	1	48,120.00	48,120.00	\$436.62	\$0.00	\$436.62	\$436.62	1	\$436.62
Matlack Leasing, Llc	1	1.00	1.00	\$900.00	\$0.00	\$900.00	\$900.00	1	\$900.00
McIx Inc	6	106,105.00	17,684.17	\$19,295.00	\$0.00	\$19,295.00	\$3,215.83	168	\$114.85

F016 Page 3 of 6

TECHNOLOGY GLOBAL

All Shipped Dates Entered Date between 08/01/07 and 08/31/07

	Shipments	Weight	Average Shipment Weight	Amount Billed	Amount Adjusted	Amount Paid	Average Shipment Cost	Pieces	Cost Per Pieces
Mediterranean Shipping Co.	13	263,867.00	20,297.46	\$18,076.86	\$0.00	\$18,076.86	\$1,390.53	1,438	\$12.57
Menlo Worldwide Bv	260	641,808.00	2,468.49	\$118,962.94	\$8,983.37	\$109,979.57	\$423.00	617	\$178.25
Mill Creek Motor Freight	13	355,033.00	27,310.23	\$17,944.63	\$6,560.98	\$11,383.65	\$875.67	23,841	\$0.48
Miller Transporters, Inc.	4	159,002.00	39,750.50	\$1,965.55	\$858.73	\$1,106.82	\$276.71	4	\$276.71
Montemar	1	15,938.00	15,938.00	\$740.00	\$0.00	\$740.00	\$740.00	14	\$52.86
Mts Transportation, Inc.	3	44,484.00	14,828.00	\$769.89	\$753.04	\$16.85	\$5.62	22	\$0.77
Nations Express, Inc.	2	6,525.00	3,262.50	\$2,486.62	\$1,104.78	\$1,381.84	\$690.92	40	\$34.55
Nationwide Express	6	130,230.00	21,705.00	\$5,047.23	\$3,750.36	\$1,296.87	\$216.15	832	\$1.56
Norfolk Southern Railway Co.	2	324,100.00	162,050.00	\$5,454.68	\$5,454.68	\$0.00	\$0.00	2	\$0.00
Oakley Transport Inc	2	152,198.00	76,099.00	\$1,931.25	\$0.00	\$1,931.25	\$965.63	2	\$965.63
Old Dominion Freight Line, Inc	108	554,132.00	5,130.85	\$45,465.59	\$40,029.38	\$5,436.21	\$50.34	2,478	\$2.19
Orange Courier	2	184.00	92.00	\$352.80	\$176.40	\$176.40	\$88.20	6	\$29.40
Ozark Motor Lines Inc	7	282,313.00	40,330.43	\$6,566.30	\$5,603.93	\$962.37	\$137.48	2,952	\$0.33
Panther li Transportation, Inc	7	58,292.00	8,327.43	\$10,967.39	\$8,655.10	\$2,312.29	\$330.33	866	\$2.67
Pitt Ohio Express Inc	4	19,115.00	4,778.75	\$903.95	\$392.95	\$511.00	\$127.75	501	\$1.02
Prime Inc	2	2.00	1.00	\$141.50	\$141.50	\$0.00	\$0.00	2	\$0.00
Quality Carriers, Inc.	103	4,255,521.00	41,315.74	\$237,013.97	\$200,701.06	\$36,312.91	\$352.55	582,725	\$0.06
R & L Carriers Inc	10	44,336.00	4,433.60	\$3,256.18	\$2,621.68	\$634.50	\$63.45	14,729	\$0.04
Roadway Express, Inc.	1	474.00	474.00	\$187.28	\$187.28	\$0.00	\$0.00	1	\$0.00
Saia Motor Freight Line Inc	28	128,059.00	4,573.54	\$5,622.94	\$5,210.95	\$411.99	\$14.71	490	\$0.84
Saybolt Lp	1	2,316.00	2,316.00	\$441.00	\$441.00	\$0.00	\$0.00	1	\$0.00
Seamates International	13	250,066.00	19,235.85	\$86,295.00	\$0.00	\$86,295.00	\$6,638.08	3,848	\$22.43
Southeastern Freight Lines Inc	27	79,232.00	2,934.52	\$7,813.20	\$5,330.91	\$2,482.29	\$91.94	818	\$3.03
Southern Refrigerated Transpor	1	19,811.00	19,811.00	\$2,310.00	\$0.00	\$2,310.00	\$2,310.00	360	\$6.42
Southland Distribution Inc	98	97,269.00	992.54	\$58,700.68	\$0.00	\$58,700.68	\$598.99	932	\$62.98
Sterling Transport Co Inc	2	64,688.00	32,344.00	\$861.00	\$861.00	\$0.00	\$0.00	144	\$0.00

F016 Page 4 of 6

TECHNOLOGY GLOBAL

All Shipped Dates Entered Date between 08/01/07 and 08/31/07

	Shipments	Weight	Average Shipment Weight	Amount Billed	Amount Adjusted	Amount Paid	Average Shipment Cost	Pieces	Cost Per Pieces
Stevens Global Logistics	269	371,640.00	1,381.56	\$188,196.28	\$84,618.80	\$103,577.48	\$385.05	4,889	\$21.19
Stolt Nielsen Transportation	11	11.00	1.00	\$34,270.00	\$6,300.00	\$27,970.00	\$2,542.73	11	\$2,542.73
Superior Carriers Inc	132	6,788,644.00	51,429.12	\$275,388.89	\$219,366.38	\$56,022.51	\$424.41	57,744	\$0.97
Suttles Truck Leasing Llc	20	668,214.00	33,410.70	\$35,416.45	\$10,816.34	\$24,600.11	\$1,230.01	42,306	\$0.58
Terminal Trucking Co	2	15,530.00	7,765.00	\$669.98	\$669.98	\$0.00	\$0.00	6	\$0.00
Tnt Usa Inc	10	4,330.00	433.00	\$456.80	\$228.40	\$228.40	\$22.84	118	\$1.94
Trans-carriers Inc	18	598,651.00	33,258.39	\$25,587.48	\$25,055.88	\$531.60	\$29.53	6,289	\$0.08
Transport Service Co	1	44,580.00	44,580.00	\$2,230.98	\$0.00	\$2,230.98	\$2,230.98	1	\$2,230.98
Transportation Consultants Inc	1	43,292.00	43,292.00	\$702.00	\$0.00	\$702.00	\$702.00	24	\$29.25
Trimac Transportation	2	83,900.00	41,950.00	\$6,586.26	\$6,516.26	\$70.00	\$35.00	2	\$35.00
Trimac Transportation Services	2	88,240.00	44,120.00	\$16,012.56	\$0.00	\$16,012.56	\$8,006.28	2	\$8,006.28
Trinity Transport Inc	8	288,026.00	36,003.25	\$8,550.29	\$7,260.29	\$1,290.00	\$161.25	2,212	\$0.58
Truck Service, Inc.	5	150,535.00	30,107.00	\$3,756.28	\$3,009.92	\$746.36	\$149.27	281	\$2.66
Truck Transport, Inc.	1	30,000.00	30,000.00	\$785.86	\$0.00	\$785.86	\$785.86	28	\$28.07
Tst Overland Express	1	142.00	142.00	\$111.59	\$111.59	\$0.00	\$0.00	1	\$0.00
Twin Modal Inc	28	981,719.00	35,061.39	\$26,393.14	\$10,158.05	\$16,235.09	\$579.82	1,126	\$14.42
U S Xpress Enterprises Inc	2	90,983.00	45,491.50	\$1,377.09	\$1,377.09	\$0.00	\$0.00	881	\$0.00
U. S. Comex Inc	3	110,403.00	36,801.00	\$1,882.86	\$0.00	\$1,882.86	\$627.62	483	\$3.90
Union Pacific Railroad Co.	25	3,156,470.00	126,258.80	\$17,343.50	\$7,539.00	\$9,804.50	\$392.18	25	\$392.18
United Parcel Service	1110	72,424.81	65.25	\$124,075.96	\$33,549.48	\$90,526.48	\$81.56	4,996	\$18.12
United Transport Tankcontainer	3	158,114.00	52,704.67	\$47,550.00	\$14,700.00	\$32,850.00	\$10,950.00	4	\$8,212.50
Ups Freight	4	2,480.00	620.00	\$1,918.47	\$629.82	\$1,288.65	\$322.16	49	\$26.30
Ups Supply Chain Solutions	149	6,663.00	44.72	\$21,348.57	\$4,830.58	\$16,517.99	\$110.86	220	\$75.08
Usf Holland	1	1.00	1.00	\$353.76	\$353.76	\$0.00	\$0.00	1	\$0.00
Usf Reddaway Truck Line	12	65,771.00	5,480.92	\$4,469.59	\$4,469.59	\$0.00	\$0.00	1,017	\$0.00
Uti United States	780	423,064.00	542.39	\$1,526,235.29	\$855,218.21	\$671,017.08	\$860.28	7,131	\$94.10

F016 Page 5 of 6

TECHNOLOGY GLOBAL

All Shipped Dates Entered Date between 08/01/07 and 08/31/07

	Sh	nipments	Weight	Average Shipment Weight	Amount Billed	Amount Adjusted	Amount Paid	Average Shipment Cost	Pieces	Cost Per Pieces
Votg North American Inc		21	430,362.00	20,493.43	\$86,332.00	\$0.00	\$86,332.00	\$4,111.05	21	\$4,111.05
Yellow Transportation Inc		14	22,090.00	1,577.86	\$5,207.32	\$4,084.91	\$1,122.41	\$80.17	53	\$21.18
	Totals for All:	4,577	52,688,544.81	11,511.59	\$4,748,219.32	\$2,188,546.21	\$2,559,673.11	\$559.25	998,131	\$2.56

F016 Page 6 of 6